& NCERT rocus

1. Following are five examples of data which are
related to day-

to-day life :

(i) Heights of girl students in our class.
(if) Number of computer sets in our computer lab.
(iii) Telephone bills of our house of last three years.

(iv) Number of students appeared in an examination

obtained from newspapers.

(v) Number of female teachers in all the schools in a

state obtained from the education department.
2. We have, Primary data : (i), (ii) and (iii);
Secondary data : (iv) and (v)

1. The frequency distribution table is :
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Blood Tally marks Number of
groups Students
A M (1] 9
B M | 6
O LR 12
AB Il 3

The most common blood group is O.

The rarest blood group is AB.

2. Here,

the observations

with minimum and

maximum values are 2 and 32 respectively.
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engineers have their residences at 5 to 15 km away from
their work place.
(if) Frequencies of class intervals 20 - 25 and 25 - 30 are
also equal, i.e., 1 each. It shows that minimum number of
engineers have their residences at 20 to 30 km away from
their work place.

3. (i)
Relative
humidity
(in %)

84-86 |

86-88 |
88-90 T
90-92 T
92-94 N
94-96 N

96-98 N
98-100 M

The required frequency distribution table is :

Tally marks Frequency

BIN| NN NN R

(if) Since, the relative humidity is high during the rainy
season, so, the data appears to be taken in the rainy
season.

(iii) Range = Highest value - Lowest value
=99.2-849=143

The class intervals are as follows :
0-5,5-10,10-15,15 - 20, 20 - 25, 25 - 30, 30 - 35
The frequency distribution table is

[()iirsltlaznmc)e Tally marks Frequency
0-5 PN 5
5-10 M 11
10-15 PN N | 11
15-20 IR 9
20-25 | 1
25-30 | 1
30-35 [l 2

From the table we observe that :
(i) Frequencies of class interval 5 - 10 and 10 - 15 are
equal, i.e.,, 11 each. It shows that maximum number of

4. (i) The frequency distribution table is :
150 - 155 M N 12
155 - 160 N 9
160 - 165 M T 11 14
165 - 170 MM 10
170 - 175 M 5
(if) More than 50% of the students are shorter than
165 cm.
5. (i) The frequency distribution table is :
Conce-ntr-atiorf of sulphur Tally Ry
dioxide (in ppm) marks
0.00 - 0.04 [ 4
0.04 - 0.08 M 9
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"""""" 008-012 | MM [ 9 | | se-zs | miNwnn | 1e
0.12-0.16 [l 2 35-4.0 M N 11
0.16 - 0.20 M 4 40-45 [1] 4
0.20-0.24 Il 2 45-5.0 [ 3

(if) The concentration of sulphur dioxide was more

than 0.11 ppm for (2 + 4 + 2) = 8 days.
6. The frequency distribution table is :
Nul:: :;: of Tally marks Frequency
0 M | 6
1 M 10
2 N1 9
3 I\ 5
7. (i) The frequency distribution table is,
Digits Tally marks Frequency
0 I 2
1 I\ 5
2 M 5
3 M1 8
4 11 4
5 I\ 5
6 11 4
7 1 4
8 I\ 5
9 M 8

(if) The most frequently occurring digits are 3 and 9
and the least frequently occurring digit is 0.

8. (i) The required frequency distribution is :
Number of hours | Tally marks Frequency
0-5 MM 10
5-10 NN 11 13
10-15 M 5
15-20 Il 2

(if) Number of children who watched TV for 15 or more

hours a week = 2.

9.  The frequency distribution table is :

Life of batteries
(i e Tally marks Frequency
2.0-25 Il 2
25-3.0 M 6

PP EXERCISE - 14.3 N

1. ()
below :

Y
A
35

>

30 -
25 —
20 —
15+
10—
5—

Female fatality rate (in %) —

Reproductive health conditions
Neuropsychiatric conditions

0

Cardiovascular conditions

Injuries

Respiratory conditions

Other causes

The required graphical representation is given

Causes —»

» X

(ii) The major cause of women'’s ill health and death

worldwide is ‘reproductive health conditions”.

(iii) Two factors may be uneducation and poor

background.
2. (i) : The required bar graph is :
Y
A
980—
T 970
)
., %60 2
12} — o
EE04 8 |6 o B
SE o0 & |2 g o
£ < I 2 5
£ 32 904 |© E = T <
g S 3| [B 2 |B ¥
5% o904 |5 = O g S
Z o 5 D g < = g
- (2 2 5 % |5 (B 4
0 A & Z =B 4 & 5
Sections —p

» X

(if) Number of girls (per thousand boys) are maximum
in scheduled tribes whereas minimum in urban section.

3. (i) The required bar graph is given below :

Y
A
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70 —
60 —
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20 —
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0

Number of seats won —3»

A B

C D E
Political party —»

F

(if) The political party A won the maximum number of

seats.
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4. (i) The given frequency distribution is not
continuous. Therefore, first we have to modify it to be
continuous distribution.

Thus, the modified frequency distribution is :

Length (in mm) Number of leaves
117.5-126.5 3
126.5-135.5 5
135.5-144.5 9
144.5 - 153.5 12
153.5-162.5 5
162.5-171.5 4
171.5-180.5 2

Now, the required histogram of the above frequency
distribution is :

Y
A
13
12
11
10
9 —
8 —
7 —
6 —
5—
4 —
3 —
2 —
l —
0N T o W N
1175 1265 1355 1445 1535 1625 1715 1805
Length (in mm) —»

Number of leaves

» X

(ii) Yes, other suitable graphical representation is a
“frequency polygon’.

(iii) No, it is not a correct statement. The maximum
number of leaves are not 153 mm long rather they are
from 145 mm to 153 mm long.

5. (i)

A

The required histogram is shown as:

00— T T T T T T — > X
300 400 500 600 700 800 900 1000

Life time (in hours) —»

3
(i) Number of lamps having life time more than 700
hours =74 + 62 + 48 = 184.

6. To draw a frequency polygon we mark the
class marks along x-axis. Therefore, the modified table is :

Marks | 0% | ectiond | Secton®
0-10 5 3 5
10-20 15 9 19
20-30 25 17 15

30- 40 35 12 10

40 - 50 45 9 1

So, the two frequency polygons are as shown below :

Section A
------ Section B

oy
(25,15)™0)
(35, 10) %,

10

Frequency —p
=
a1
]

(5,3) 45,

r—T 1 1T 17 T 1T T T T T T 1>»X
5 0 5 10 15 20 25 30 35 40 45 50 55

Marks —»

More students of section A have secured good marks
than students of section B.

7. The given class intervals are not continuous.
Therefore, we first modify the distribution as continuous.

Number of Class Frequency | Frequency
balls Marks Team A Team B

0.5-6.5 3.5 2 5
6.5-125 9.5 1 6
125-185 15.5 8 2
18.5-245 215 9 10
24.5-30.5 27.5 4 5
30.5-36.5 33.5 5 6
36.5-425 39.5 6 3
42.5-48.5 45.5 10 4
48.5-54.5 51.5 6 8
54.5-60.5 57.5 2 10
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The required frequency polygons are as follows : 9. (i) Since, class sizes of the given frequency
Y — Team A  distribution are unequal and the minimum class-size
A ----TeamB =¢_4=2.
(455,10) (57.5,10) Thus, we have
g Number of Frequenc Width of Adjusted
T letters 1 y class Frequency
E 1-4 6 3 2, 6=4
g 8
g 2
& 4-6 30 2 5 x30=30
2
6-8 44 2 5 x44 =44
250 3l5 9|5 15!5 21|5 27|5 3?!5 39|5 45|5 51|5 57|5 63.5 2
. . . " Number of balls —> o . . 8-12 16 4 4 x16=8
8. Here, the class sizes are different therefore, we
calculate the adjusted fr.equenc1es so that ~area of 12-20 4 3 2 «4=1
rectangles become proportional to the frequencies : 8
Adjusted frequency
. . The required histogram is:
Minimum class size
= ; - x Frequency of Y
Class size of corresponding class . A
corresponding class N
Here, the minimum class size=2-1=1 4
Thus, we have : T 40
Age | pooo | Widthof | Adjusted ¢ 7
(in years) 1 y class Frequency g 307
5 25
1-2 5 1 1u5=5 S 20
L 2
1 = 1:5,1
2-3 3 1 =x3=3 Z 10
1
5 —
1 >
3-5 6 2 —xX6=3 O T T T T T T T T T T T T T > X
2 1234567 8 910111213141516171819 20
1 Number of letters —»
5-7 12 2 —x12=6 . . . . .
2 (i) The maximum frequency is 44, which is
1 corresponding to the class interval 6 - 8.
7-10 9 3 3 o= Maximum surnames lie in the class interval 6 - 8.
1
10-15 10 5 gx10:2 EXERCISE - 14.4
15-17 4 2 % x4=2 § N
1
So, the required histogram is : 1. Mean, g‘c:izl :2+3+4+5+0+1+3+3+4+3
Y n 10
A 28
| =—=28
47 10
5 ] Now arranging the given data in ascending order, we get
< 5] 0,1,23,3,3,3,4,4,5
fg 47 No. of observations (1) = 10 (even)
537 Median
<
£ 27 th th
2 14 Value of (E) observation + Value of (E + 1)
2 2
0 »> X

1T T 1T T
12 3 456

T
7 8 9 1011 12 13 14 15 16 17

Age (in years) —»

observation
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_ Value of 5t observation + Value of 6" observation
B 2

343 6

2 2
Thus, the median of the data =3
Here, 3 occurs most frequently i.e., 4 times. So, mode = 3.

2. Here, n=15 (odd)

1n
le, [41+39+48+52+46+62+54+40+
=1

_ = 96 + 52 + 98 + 40 + 42 + 52 + 60]
Mean, x = = T
n

_82 54.8
15
Now, arranging the given data in ascending order, we
get
39, 40, 40, 41, 42, 46, 48, 52, 52,52, 54, 60, 62, 96, 98

15+1

th
Median = Value of ( ) observation
= Value of 8" observation = 52

Here, 52 occurs 3 times i.e., the maximum number of
times.

Mode =52
3. The given observations are arranged in ascending
order.
Here, n =10 (even)

Median

th th
Value of (%) observation + Value of (% + 1)

observation

5
_ Value of 5t observation + Value of 61" observation
2
PO ol Gk ) R PR S

= 2x=124 = x= 62

4. Arranging the given data in ascending order, we
have 14, 14, 14, 14,17, 18, 18, 18, 22, 23, 25, 28.
Since the observation 14 is occurring the maximum
number of times i.e., 4 times.

Mode of the given data = 14

5.  Wehave,
Salary (in 3) No. of workers .
Xi Ji o
3000 16 48000
4000 12 48000
5000 10 50000
6000 8 48000
7000 6 42000
8000 4 32000
9000 3 27000
10000 1 10000
Total 2f;=60 2x; f; = 305000

2. f

6. (i) Mean height of the students of a class.
(i) Median weight of a pen, a book, a rubber band a
match box and a chair.

Medn, % = 2.xfi 305800 =% 5083.33




BEST SELLING BOOKS FOR CLASS 9

NCERT.. °
FENGERTIPS

SCIENCE

JEX +EXEMFLAR
F'REIELEME SOLUTIONS

e
B ——

o
FOUNDATI®N
COURSE @

IMO OLYMPIAD
WORKBOOK®

NCERT.. °
F~NGERTIPS

ey e

MATHEMATICS

JEX - EXEMFLAR
F'REIELEME SOLUMONS

e
e

=}
FOUNDATI®N
COURSE @

2

CHEMISTRY ﬁ

CHAPTERWISE SOLUTIONS
B -' e

IEQ OLYMPIAD
WORKBOOK®

NCERT
EXEMPLAR

PRDELEMS SOLUTIONS

SCIENCE ﬂ

NCERT
EXEMPLAR

PROBLEMS-S0LUTIONS

CBSE and IH‘.EHT

TAMANNA

APTITUDE TEST

%UNDATI *N
COURSE @

NCO OLYMPIAD
WORKBOOK

NSO OLYMPIAD
WORKBOOK®

IGKOOLYMPIAD
WORKBOOK ©

REASONNG
WURKBUUI(@

2 3k
%ﬁﬁﬁg AY
. &

Visit www.mtg.in for complete information




